CURRENT AFFAIR QUESTIONS JUNE
2018

Q: 1 As on April 23, 2018 which Indian company has highest market capitalization?

(a) TATA Consultancy Services
(b) Reliance Industries Ltd.

(c) ONGC

(d) sBI

(e) None of the above

Q: 2 Statements:

I. India has slipped three notches to the 11% place in AT Kearney FDI Investment Index 2018.
Il. Overall, India remains among top Investments destinations due to its sheer market size and
rapid economic growth.

(a) I and Il both are correct
(b) Only l'is correct

(c) Only llis correct

(d) Neither I nor llis Correct
(e) Either 1 orllis correct

Q: 3 Ason March 31, 2018 total grid interactive installed capacity in renewable energy
sector was about ---

(a) 60000 MW
(b) 62000 MW
(c) 65000 MW
(d) 69000 MW
(e) None of the above

Q: 4 Van Dhan Scheme was launched by the prime minister on at Bijapurin
Chhattisgarh.

(a) April 14, 2018

(b) January 1, 2018
(c) April 1, 2018

(d) May 1, 2018

(e) None of the above

Q: 5 India’s core sector registered IIP based growth rate of percent during 2017-2018.
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(a) 4.0
(b) 4.2
(c) 4.6
(d) 4.8
(e) 5.0

Q:6 is the top choice for the Indian travelers.

(a) UK

(b) USA
(c) France
(d) Italy
(e) Greece

Q: 7 Government of India has approved the programme of Upgradation and Expansion of ___
Airports.
I.  Lucknow
Il. Chennai
lll. Guwahati
IV. Bhopal

(a) Only Il

(b) Only Il and Il
(c) 1, 1land 1Nl
(d) I, 1,0 and IV
(e) None

Q: 8 Which of the following terms are/is associated with aviation sector?
L. UDAN
Il. RCS
lll.  NABH Nirman
Iv. IATA

(a) 1, 11, Il and IV
(b) 1, 1l and I

(c) land Il

(d) Only

(e) Only 1l

Q: 9 Which of the following Statements is/are Correct about RUSA?
I.  Rashtriya Uchchatar Shiksha Abhiyan (RUSA) is a centrally sponsored scheme(CSS) ,
Launched in 2013
Il. The Central Funding (in the ratio of 60:40 for general category States, 90:10 for special
category States and 100% for the Union Territories Jwould be norm based and
outcome dependent .
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.
V.

It has been terminated on March 31, 2017
It has been allowed to continue upto March 32, 2020

(a) I, land IV are correct
(b) I, 'and Il are correct
(c) I'and Il are correct

(d) 'and Ill are correct
(e) All are correct

Q: 10 Which of the following is termed as GDP Deflator?

Nominal GDP
— X1
(a) Real GDP 00

Real GDP
(b) ——————=x 100
Nominal GDP

(c) Nominal GDP Nominal Growth rate—WPI based Inflation rate
(d) None of the above
(e) Either (a) or (b)

Q: 11 Which of the following is/are termed as alternative measurements of progress of a
country ?

I
Il.
.
V.

Genuine Progress Indicator
Green Domestic Product
Natural Capital accounting
Happy Planate Index

(a) Onlyllandlll
(b) Onlyland IV
(c) Only LIland Il
(d) 1, 1,1 and IV
(e) Only

Q: 12 Assertion (A): Expenditure from Public account are not required to be approved by the
parliament.

Reason (R): Public Account is to account for flows for those transactions where the
government is merely acting as a banker.

Codes:

(a) (A) and (R) both are Correct and (R) is the correct explanation of (A).
(b) (A) and (R) both are Correct and (R) is not the correct explanation of (A).
(c) (A)is correct, but (R) is incorrect.

(d) (A) is incorrect, but (R) is correct.

(e) None of the above
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Q: 13 Which of the following types of International transactions is independent of the
country’s balance of payment situation?

(a) Borrowings from the IRBD

(b) Borrowings from IMF

(c) Foreign Company’s investment in the country with the aim of the earning Profit.
(d) Borrowings from IFC

(e) None of the above

Q:14 Which of the following is monetary policy tool?

(a) Devaluation

(b) Depreciation

(c) Primary Deficit

(d) Revenue Deficit
(e) None of the Above

Q: 15 The term ‘Leissez faire’ generally applies to----

(a) Foreign Trade

(b) Monetary Sector

(c) Fiscal Sector

(d) Whole of the company
(e) None of the above

Q:16 Disguised Unemployment is the most common type of Unemployment in ----

(a) Real Estate Sector

(b) Agriculture and allied activities Sector
(c) MSME Sector

(d) Banking sector

(e) None of the above

Q:17 Which of the following terms are/is associated with Banking sector?
I. CBS
.  SWIFT
lll.  Letter of Credit
IV. MCLR

(a) Only land IV
(b) Only I and llI
(c) I,lltand 1l
(d) 1,1, lland IV
(e) Onlyland Il

Q:18 Which of the following agencies are associated with the World Bank?
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I. IBRD

. IFC
. IDA
IV. MIGA
V. ICSID

(a) Only land llI
(b) Only I, lll and IV
(c) Onlyl

(d) LILII, IV and V
(e) None

Q: 19 Which of the following currencies is the latest addition to the basket of IMF’s SDR?

(a) Indian Rupee

(b) Russian Rouble
(c) Chinese Renminbi
(d) Brazilian real

(e) None

Q: 20 Which of the following terms are/is directly associated with the World Trade
Organization?

(a) Agreement on agriculture

(b) Agreement on application of sanitary and phytosanitary measures
(c) Peace Clause

(d) All of the above

(e) None of the above

Q: 21 Global Index Humble report is published annually by international Food Policy Research
Institute. The Index is based on ----
I.  Undernourished Children
Il.  Child wasting
lll.  Child Stunting
IV. The Mortality rate of the children
Correct Code is---

(a) Only |

(b) Only Il and 11
(c) 1,1, Ml and IV
(d) Only land IV
(e) Only Il and Il

Q: 22 “Livelihood and Water Security” initiative has been launched in Haryana and Rajasthan
by—
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(a) YES Bank

(b) State Bank oF India
(c) ICICI Bank

(d) NABARD

(e) RBI

Q :23 Which of the following is an example of “crony Capitalism”?

I.  2G Scam
ll. Colgate Scam
1.  PNB Scam
Correct Code is ---

(@) Only Il

(b) I'and Il only
(c) and Il only
(d) 1,11 and 1Nl
(e) Only |

Q: 24 Which of the following Indian Companies featured in “The 2018 World’s most Ethical
Companies Honoree” List Released by:
I.  TATA Steel
II. Wipro
lll.  Reliance Industries Ltd
IV.  Krilosker

(a) 1and Il only
(b) I,Iland Il Only

(c) lonly
(d) 1,11, 1l and IV
(e) Nonly

Q: 25 Which of the following pairs is mismatched ?

(a) Urjit Patel -- Governor, RBI
(b) RajivKumar -- Vice Chairman, NITI Aayog
(c) Bhanu Pratap Sharma -- Chairman, SEBI

(d) R.SSharma -- Chairman, TRAI
(e) None of the above

Q: 26 What does the Global Findex Index measure?

(a) Global Indebtedness
(b) Financial Inclusion
(c) Global Remittances
(d) Financial Literacy
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(e) None of the above

Q: 27 Which of the following Countries is facing the problem of the Population decline owing
to economic Migration ?

(a) Lithuania

(b) Poland

(c) Thailand

(d) Georgia

(e) None of the above

Q: 28 Which of the following Statements is/are Correct about “ Freight Village “?

(a) Itis an integrated Multi Modal Logistics Hub(IMLH)

(b) It is being Developed in Nangal Chaudhary in Haryana

(c) Itis asub project under Delhi Mumbai industrial corridor Project.
(d) All of the above

(e) None of the above

Q: 29 Consider the following statements about National Biofuel Policy 2018 and choose the
correct code given below:
I. It has been approved by the Union Cabinet in May 16, 2018
Il. The policies Categorizes the biofuels as “Basic Biofuels”, “Advanced Biofuels” and
“Third Generation (3G) Biofuels”
lll.  Ethanol, Municipal Solid Waste(MSW) to Drop in fuels are Advanced Biofuels
Correct Code Is:

(a) Only

(b) I And Il both are Correct
(c) Only lll'is Correct

(d) I, 11 And Il are Correct
(e) Only 1l

Q: 30 Anyone who opens an account under Pradhan Mantri jan Dhan Yojana is eligible to get
a--

(a) Maestro Debit Card
(b) Smart Card

(c) RuPay Debit Card
(d) Visa Debit card

(e) None

Q: 31 Which of the following public sector banks has reported highest losses in 2017-18?

(a) Dena Bank
(b) Oriental Bank
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(c) Punjab National Bank
(d) Allahabad Bank
(e) Bank of India

Q: 32 Problem With high Leverage ratio is that—
I. It magnifies the profit when the returns from the assets are healthy.
Il. It blows up the losses in case of abysmal returns.
Correct Code:

(a) Only lis Correct

(b) Only Il'is Correct

(c) 1and Il Both are correct
(d) Neither | Nor Il is Correct
(e) Eitherlorllis correct

Q: 33 What is the age limit for the Pradhan Mantri Suraksha Bima Yojana?

(a) 18-70 Years
(b) 18-60 Years
(c) 20-65 Years
(d) 18-65 Years
(e) 20-70 Years

Q: 34 As per the claim of the Central government targets of has been completed by the
end of the May 2018.

(a) 100% of the electrification of the villages
(b) Ujjawala Yojana

(c) Bharat Net Yojana

(d) Pradhan Mantri Awas Yojana—Gramin
(e) None of the above

Q: 35: The maximum Amount of pension that a person can receive under Atal Pension Yojana
is ---

(a) Rs. 5,000

(b) Rs. 10,000
(c) Rs. 15,000
(d) Rs. 20,000
(e) Rs. 25,000

Q: 36 The maximum Amount that can be invested in Pradhan Mantri Vay Vandana Yojana is---

(a) Rs. 15,00,000
(b) Rs. 10,00,000
(c) Rs. 7,50,000
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(d) Rs. 5,00,000
(e) Rs. 4,50,000

Q: 37 National Income India is Estimated by:

(a) Ministry Of finance

(b) Reserve Bank of India

(c) Central Statistical Office
(d) NITI Aayog

(e) None of the above

Q: 38 Consider the List—I and List-1l and choose the correct code given below:
List -1

A. Central Statistics Office

B. NITI Aayog

C. Reserve Bank of India

D. Ministry Of finance

List =1l
1. Three years action Agenda
2. Monetary Policy
3. Estimation Of national Income
4. Management of Public debt

Correct Code is—

A. B. C D.
(a) 3 1 2 4
(b) 4 3 2 1
) 1 2 3 4
(d) 3 1 4 2
(e) 4 2 1 3

Q: 39: Pradhan Mantri Fasal Bima Yojana is being Implemented by:
I.  Agriculture insurance company of India.
Il.  Four Public Sector General Insurance Companies.
Ill.  Thirteen Private Sector Insurance Companies.
IV. Insurance Companies established by the states: if any,
Correct Code is:

(a) Only

(b) Only land I
(c) Onlyl, Iland Il
(d) 1,1, land IV
(e) Only 1l
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Q: 40: Consider the following statements and choose the correct code given below:
I.  National Food Security Mission (NFSM) was Launched in 2007.
Il.  National Food Security Act (NFSA) was passed in 2013.

Ill. NFSA s a part of NFSM.

IV. NFSA, provides for coverage of 75% of the rural and 50% of urban population for
receiving food grains at highly subsidized prices of Rs. 1, 2, 3 per Kg for Coarse Grains
/Wheat/ Rice Respectively.

Correct code is :

(a) I, 11 And IV are Correct
(b) land Il are Correct

(c) Only IV is Correct

(d) I,11,1lI And IV are Correct
(e) Only Il'is correct
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